3.  TRORN

X N Mo %:E;Fm
1 m R B 4,637,119
2 EE E B 5,313, 593
3 B OH B R 329, 506
4 7= 1 = B 738, 325
5 A B B 7,718
6 C I P TS 655, 265

a #t 11, 681, 526

4. MEERINER

A o (BA7 . FH %)
X val & K| R X 5y & FH | MERREE
(il Bi|l 11,681,526 25.0 A Gs #|  7,656,272| 17.1
g e kA & 67,204] 0.1 |y (¥ (85 #| 6,626,241 14.8
il OB X O F Ekr 598,946| 1.3 ﬁ MR e & 373,151 0.8
E WM E I A 115,940 0.2 | & |#5 Bh | 11,128, 747| 24.8
ar 5 & 258,318| 0.6 Ble o #o F[ 4,743,922 10.6
M [ A 4 950, 175 2.0 E 30, 528, 333| 68. 1
i 21 4| 1,387,039 3.0 7N & | 4,716,159 10.5
N I A 688,172| 1.5 % i VA 4 465,324 1.1
7 15,747,320 33.7 | 0y [BEROHE S - Fi6 358, 689| 0.8
#o o5 #E 5 OB 388,024| 0.8 gﬁ@%’s H 4| 3,670,898 8.2
L I - B S N R 3,560 0.0 7 9,211,070| 20.6
LTV T I b R 32,923| 0.1 |y % 48 & 3 F % f§| 4,633,329] 10.3
2 B T B 5 27,493 0.1 “ﬁ S E W EE R 158,851 1.0
BN EEB LN & 180,886| 0.4 | |& ¥ & K # ¥ # o[ 0.0
& HH W O BLAZAF 4| 2,100, 346 4.5 & 7 5,092,180 11.3
=L 7 SRR AE AT 4 9,746 0.0
ﬁ B B A B AS A 4 5[ 0.0
" B B B A2 4 17,465| 0.0
b2 MR 1 v B 98,503| 0.2
g |5 s A B 11,175, 210( 23.9
53 360 22 4 R 98 e B 28 A+F 4 8,882 0.0
JE 3 4| 9,887,902| 21.1
B’ X H 4| 3,782,338| 8.1
i & 3,323,227 7.1
3 31,036, 510| 66.3
= 5 46, 783, 830| 100. 0 & Z 44, 831, 583| 100. 0




